
��������	��
������
��������������������� ���

���������	������� 
��
���������
�����������������������
�������������������������� �!! �����"�#���


$%�$�
��&��$�"'(�)��&�*$
��%(���(�%

�����������	!+�,��-���./�0���+�
�����%���1�	 "�����2!+�)�����%��0���-��!+�.�����./�0���+
��2�����3���0�!�������2�����4�����	!

!5��2�����6�
�#���������7�(8���
�
�%/����6+�9������2�
�5��2�����6�3��#�����7���:/���
��������
�5��2�����6�
�#���������7�$�(+�)����0�5��2�����6�3��#�����������+�)����0+��������

%5**�";�<�
��
���������
����������������������� ��� �� ��2���� ��#��
� ��7�
������7� �8�����������/�+
�����6����/������7���������7�
���/��#��
����������������7�����8����
����������
�2��6��(8����������6�����
����
������=��8����
���������
�������������������������������8��8�>?��@A�����#�����7��8��
/����������
��
�����/���
��������������#�������(8������������6��

/�������6���������������8�����B��$���6���������������7
/��������#�����
���������������6�����������������2������0����
��8���#6�����/���
��������2����������
�����7
�8����7�
���/��#��
�������
��������8���8���
�
�
�2��6����#�������=��8����
���������
����������������������+
��������6���������=��8�����0����
��8���#6�7����=���06��/���
��������2��������/������8����������#��#�������+
���#����������������#�����2��6+�����7���8����������
��#��
�������7��8����7��2���/������������������2���#���

4�6�=���������	�
�	�	�	
�����	
�
�������	�
�	�	�	
����	���

	
�����	�
�	�	�	
���������������	�
�	�	�	
���
�����������	�
�	�	�	

���
���	���	
�
����
�����
��

������#�����
��������
���	�
�	������������5��2�����6�
�#���������7
(8���
�
�%/����6+�9������2�
�5��2�����6�3��#�����7���:/���
�������+
9������2�
�!��+�3" !�����)����0+��������
$ ������0#�#�C����8�

"�
��2���9/�6��+�����+��

�#�����/�/���!�+�����

����#�����
8���+�#���2��
/�����#�
�+�����8�������������
���� 
����������������#��2����0���������
�����������7��8�������#8� 
�6������������������#�
�������8�/���0���������8�����2��6
��2����7�����7����������������

/���06��8����7�
������� 
�
�����8��/�8��8���� 
��������������#�
��7�/���0��=���
�8�����������#��2����0����7��
��+��������#�
��2�
���7��
��+
�B��������7�����8����/���0�����8��/�8�#����������������� 
�/����=������8�����#8������*����7��D/����6+���7�
�����
7�����8�������#8��6�������#�
�����
��������8����������� 
7�
��������
���������8��
�������0�������2��������2�+��� 
�����
2��
�����2��
/�����#�
�+������6��8�=���������
6�������
���
����8�����������/��0/��
�/���#��0���������8����
�����2��+
=��8�7��D/�����8���0������7��8�����������-/�/����2�������
����������7��8��
������������6�����������@��7���7�
��������� 
����������8��/�8��8��#��2����0�����#�
�+����������!�@
�8��/�8��8��#�����
8��������2��
������#�
��

'���������
��0�
�������7��8����
���������8������ 
�����7��D/����6����������#���������8���/0�����0/�������
#���#8��6�������#�
�����7�
������7��8��#��������������� 
7�
��������6�������B���������8�������+�=8���7�����8��=�6
����8�����������/������������7�������������
����+����/# 
#/����2��#��
������6�������������7�����8���0�����
�8��/�8��8��8���������7�
������8�����#8���������8��#�� 
����������������/��

����������


��
���������
�����������������������>
�*A��������� 
7��������6�#��
�����7��8�����������/�+�=8�
8���6��

/�
�/������8����2���#������7�#�������6�#��8�����
�0�
������
���������+��##���/�����
�0�
�����+��6
�0�
�����+�7/���+���
�2��������86#�����/������#����������#��2��/����7�
����!�

�*�/�/���6���2���#������
/������������������7����#8� 
�6���������
��2�
�����7����������=��8���8��8���������6�����
>/#������@A+������6��

/�������
8����
�7�����7����7���������0�
��
������������#��#���6���������������������#�����7��8���
��7�
��������2���#�7����=��������� ���������#�����2��#��
� 
�/���+�=8�������������8��7��7���������������
������

/������

����D/��
���7�#8��6������#��7�����������/
���06������ 
����
�>�����
�#6+�
��#��
��������/0�����A��������0�����
>�/�
���A�
�/�����(8�����8���7�����7�������������������/����
�8����7�
��������
������=���8��
��2�
���7��
������������
�/
8����#�����
8���+�0/

�#8��6�����+�#��2����0����7��
��



��� ��������	��
������
���������������������

���������	������� 
��
���������
����������������������

(8��0�
�������7�����7�/�������8������7�
������/�/���6

���������7�������0�����������0��+�����8����8��-������
 
������7��������������#�
�����7����� ������2����
��0��
����������0�������������8���6��������
��77�
��=��8��8�
7����������7���
���������
���/�����E�

�	���
�	�
�
����

$�����������8�2��#��#�������
�����7�
�������7�
�*
�

������������
�����������7��/##/����2��
���������6#���
<��0�
������
�������������/##������������/�+��0�2����� 

8����0�7/�
��������6#������<��#�������������������=��
���������/��������6#����.�<��#�����7�����8����
������
�8���������������#�����������=������������/���

(8���6�#������8����

/������8���������7��8����� 
�������������6���
�/�����
�������������8�������
�2��6����
����8����
������8��7�����7������+�����������/
������� 
����+�#���+����2��������#����/��+�����#������������
�� 
�����������#�����������6��

��������6�0��#��#������/�
��������

/�/����������
��2�
����/0
/�����/������/������
/##���8����8���B+�=8�����6�#����������������#�����=��8
�

��������6���77�
/����=����=�����

/�������������7��8�
��7�������������
��������8�����������/���(8������� 

��7�����/�/���6��

/�������!� �F�8�/����7��8���������
�����+�8�=�2��+��8�6���6�������

/����2�������6������2��
=������������
��������������7��8����7��������������8�
#���
����/�����#��/�����#�
�����/�����������#�
�7�
�
�� 
���
��2�����������������2��
�/�8����������#������6����/7 
7�
���
6��

���������


�����������������06�
����
����B������������������� 
����
�����/�������
�/������/���B ��6����������#��������
#��7��������
����������8��
����(��7��8����
�+��8���B
�����0�������(8�����������/�0����7��6#�
���������=8�
8
���+��

����������$�������������+��/������2���7��8����2�� 
�#������7�
�*��!A�
����
���6+��8��#�����
���7��������/�
���#8��6��������7�
�������A���
8���
�������
����������
��
7��������EA�2���7�
�������7�����
���������������������#��
 
����������#�����2��6��������/��#�6�������A�����0���8����
�7�����
�������0��=�����8���=����7��������6�#��
������
:/���B ��6��8�=�������
8���
�������
�7���������������� 
������7��8�������
��2�
����#�
��=��8����=��8�/��������D 
/���
����
������7��=���������������7��8�����
8��������
�� 
/������������������#86����������������7�
��2�
������ 
�������$77/�����������8��#���
����/������#��/�����#�
�
����7����7�/�������������������8������������(���2����
�������7��8�����������������#��������/��=��8��8������

�7�
������������+�������D/�����2�����������������D/����/0 
��������7��8����
���������������/��=��8�#��/�������#��� 

��������77/������

���������

(���������/�/���6�0������=��8�
��0���������0����

�8���#6�7�������0�������������0��+�=8�
8�����/0��D/����6

����
�����

�����������8��0�
���������
�����#���������/# 
#/����2��
����
���������0����
��������2��6���#�����(8�����
7����=���06���������2���#�����2���8���#6�=��8���7��������8�

��2�
����6����
��������
�������G8����8��#��
���������
�B
�/��2��6���
�����������8����
�+��8������
�������=��8
#��
�������7�H�������������������/77�
����+�8�=�2��+��7

����
������������
�����������8��������������������/�+
0�/����#�������7��8����������������#�
���0�2������0� 
��=��8�������/���8��/�8�
��������
�����������/0B6#8���
��
�����������
�����6��H/���2�
/�����+��0/�������������
��������������7��8�� ��
�������������=��8���#��������6
���������7��D/����6����������������7�
���6��/�
����

�����
��������
����������#������������������/��8�2�
���0���2�
/�����06�#���������������8���
����6�=��8��B 
�����2���#�������7�������������#��/��+�����
����
����
�7������#�
�������
����
������=��8���0��������������B 

�������7���
����
�����/���(8���#�����2��#��
��/������
�� 
#������=��8��0/���������������7��8���8���B�����#��
� 
������7�������������=��� �/�����������7���������7��=�
(8���B��������������
������������#��7����! �������
����6�=��8�!��� ������:�����������=8�
8���8��7��7�"�2� 
�������/�����
���0���������(8��
8������������0���#����
��#�����������������������
�����������
�����������7�#��/ 
�����77/������
������������7�����#��
��/������8�������/����
�7��/##/����2��
����
�����>=��8��

��������
�������
8���
�(A����������2��0�
���������
���7��������7�#��/�����77/ 
�����

������������#����������������������6�=��8��B���#��/ 
�����

��������/##/����2��
����
������7�#������������� 
�����/����������7��D/����6�#��7�����+�=8������I�(%���
��������6������2���7����B#����������#/�#������%�����/ 
�8������2�
�������
8�����6�����#��
�������7���
���/��
���#��2�������#������6����
��7����+�=8��������8������
 
�������������#��7����=8��������6���
�����6�0/��������
�8�����������������7��8���������F�

����	��

�
/������������������������������
������=��8���2��6�8��8
��������6����������#�����7��8���������/�0����7�����0����
�
������2��
����/���
�����
8��D/���2����0����%�����/�8���
��#�����������@����8����6����
�����7�����6������������



��������	��
������
��������������������� ���

���������	������� 
��
���������
����������������������

�������##��#����������������+�=8�����������6��8���7��/��

��+��

����������������/�8���+�0�����/
�������E@�#�� 
2���������6���������2������0����
������#�����2���8���#6
8���0���������6�������/
����3�=�2��+������7�2���0��
���/����
�����7������6�0�����6��
8��2���06��B�����2����
�
��
�������=��8�����������7�
��2�
����#�
��+�����
������=��8
#���������������8���
����6�=��8���
��
���6+���0���� 
����������8���
�
����������=��8��/���#���������J�

�����������

'��K�0�/��6�!E+����!+�:-��.�+�������0�������!J��+
����/������
8���
�����������+��������+�0�������=��8��=�

8������+�7����.-���2��+��������+�=��������7�����������
�������
6�7����.-���2���3��#�����7���
����
������������ 
����
����������7�
�*��(8����=������#��2��/����2������� 
��������8���#�����������7����6�8�����6��(8��#��������� 
#������������6����#���
�������(8������6��0�7����8���#��� 
�������������8��.-���2���3��#����+�8��2�������8���#86�� 

����7������2�����0��6����#����/�������#���������8����7�
������7�8���7�
��������
�+�=8��#���
��0���8����������0� 
���
������8���6�#�����#���������+��

��#������06���� 
2��������#����/���������77�
/�����/�8��#�����+�8��=��
������������$�(�
�#�����������K�0�/��6��+�=8����8�
=����������������#���
����������%��/ *�������'���8�
��B����6+��������7��8����7��#���������
8����������
�2��6
7�������2���#��+�=��8�
��#��������������������7��8������
�7��8����
���'��K�0�/��6��+���
�������7��8�������
�2��6
7�����=��8���
�������7��8����
�������0���=��8����7����� 
��0/����������=���#��7�����+�=8���06���
��������0��
���/����7��8�
��#/��=���
����
�����(8������0����
���� 
����2��6���#����#��������������

�����
�
���
��##�+������8�� 
�#6�=��8�
���
����B�����������*�������EB�������=��
������/
����5#�����
�����+��8��#��������/������7�0����+
8�=�2��+����2��������#����/�����
/��������K�0�/��6�!!�
��=+�#���
������=���������/
�������8���#6+����/��������
������������2���������8����8��#�������=����=��
8�����
�����6
����B!�������'��K�0�/��6�!E+��(��7��8����
�
�����8���B���2��������#8�������/���������7��8������

�2��6���7������/�������8����7�+���7��������7��8����
��=��8
������D/���
����
�����+������7����������/##����������� 
�/���*�����0�����#��/�����77/������=����0���������6��0 
���2������� �8��#�������=��� �����7������ ���5��2�����6

�#���������7�(8���
�
�%/����6+�9������2�
�5��2�����6
3��#�����7���:/���
�����������)����0�

'�����������+��8��#�������=���8����6���0���+�
�� 
�
��/�+�0��6����#����/���EF�F�L�+��B8�0��������
86#���
������
86
�����+�=��8�
6�����
��B���������+�������6����
=����������2���0��������������������������=��8�
��#� 

������������8����7��������7��8����
������8��
��2�
��+�=��8
�8�
��#/�/�����
����������
�������������8��������7���
�8����
������/������8����7�������0/�����������3�������

�2��6�=���7����7�����2����#��8�����
�7��������B
�#��7��
�8���
�����7���7�����8����
�������7��8�������
�2��6�7�������
�8����7���'���8���/���+���77/������8�+�=��������0����8 
����0���������6+� ��#�
����6� ��� �8��0������ 
�����
� �
����
�86�8��
������
86
�����������/��/����(8���0������=��
��7�+�#����������8����2��������#�����=�����������������
�8���B����������=����7����7��������������=��8�������
#/��������

(8��#�������=����������������8���������2�������5���
>��5A+�=8����0��������#����=�����0�������7���������0� 
�����6��������K���������:���+����������6����2�����/���
���������������������
86
������/#����!E����������0����
#����/�������/���������������2��0�
���������/�����6���� 
�������(8��$�(��#�
�����������/�6�>H��7������./�0��A
=���
���/������3��
�����������8����8���/0���/������
� 
�����#��7������=����������D/���+��8���7������7� �����

��2�
����6�����
��������
������=��8��2�
/�������7������
���/�����7��/##/����2��
�������7�����8����
�������� 
�������/##������������/��=��������+�7����=���06��0/� 
�������������=��8�������#��
����/����+�#��
�����06���� 
#�����7���0�
��������6������.&��(8����
�������=������7�
�#��+�������6�7������=��8���/�������������.��������%���
�����:��7��8�
���/##/����2���77/�����=�����0�������06
����������7��8����7���8���B��H����#�����2��6+��8��#������
=�����������6+�=��8�/�����#����/������2�����+������#���
�8�����8��/��2���7/��6��8��=����B�/0������7����E�8�/��+
=��8�����������/������+�0�����#����/��������IH��(8�
�������7��8���/����=��������6�������+�=��8����6��������
�77/����������0��8�0����������������������#��������

'���8����B����6+����������=���
8�����������2����
�

���������8����=��������������
8�����06��8���
�
�������
���8� ������#/�
�/���#���/
������#/��0/�����6������� 
��������/�����������
8������:�0������6�7������������ 

�����������������=��8�:���
��������������/���������
8�=�2��+���������

/��������K�0�/��6�!�+�����7��������
���#�����������/�
�����2���8���#6+��8���7�����8��#������
=�����7���������
�#���������7������2���������&����� 
���������6+�)����0�5��2�����6�3��#�������������(8��#� 
��������7/�����������
�#6�����=������/����������5�=8���
8��=����������������#�����������8���#6�������7/�����+
���������7/�������7�#�
��������0�����
�����>".�A���8� 
��
�
�������=���
����
���+�=��8�������������2�
/�������7
�77/�����7�����8���8���B��
/������8����B���8������6�+
������������2��+���������8����B����6���������=�������
#��
�������8�����8���8���B�7����77/������

/�/������+���
#���/
�������:��7�����/���������77/������(8��#������



��� ��������	��
������
���������������������

���������	������� 
��
���������
����������������������

=����7�0����+�=��8����������0������6�7�������+���������� 
����=���
8���������������6�0������(8������0����
������ 
��2��6���#����7�����8����
��=�/�����8�=����������
�
� 
��
� ��	����	�	
��!���
��	��
� ����	�"����#����������
�
���

����
���	��
��(8���������7��8���/����=���������+������8�
#�������=��������7����������8��=�������K�0�/��6��E+�=��8
2��2/����������+��������������
��������+������������0��� 
�
��8���#6��

�����������8������0����
��������2��6���#����

�7��������6�����������B
8����+��8��=�/�������8����
�
=���
�������7����
���/�������8������2�������8��������K�0 
�/��6���+�=8�
8�=���7����=���06������2��0������������8�
�������������+����##���=��8���7�������(8��#�������=��
���/0�������������������6�����������8���#�����2���8��� 
��+�=8��������������������
����������8��������7��8����
�
=���������
������8��
��2�
��+��B���������������8����7�
������7��8�������/������8����2����7��8���8������0���������� 
���6��0�2���8������������(8��+��8��
��2�
���=�������
� 
��+��8��#�
�������/�
���=�����#�������7�����8���/##���
�����8����
������0�=�������
���+��8/��#��7��������8�
M���#�����N���
�������(8��-/�/����2���������+�������6��
06��8���/##/����2��#��
���+�=����

�����������/�/���+
�������=�����8�����������-/�/����2����������7���/0
��2���
2�����(8��#�������=��������7�����������5������+�=8���
�������=���
����
������8��7������������
�����86#�#�� 
����������������
����6����6�0����
������#����EBF����
����:���B�##�=����������/
����5�����������#86�>5%A��7
�8��8������8�=�������������#���
��������77/��������� 
����/��������+����������������6��������0�����#����/���
:/���B ��6��8�=���������8��6��B�������/##����������� 
�/������#��#���6�#�����������������=��8������������ 

8������'��*��
8��+��(��7��8����
�������8���B���2�����
���������/�����7�������D/���
����
����������8����������
/##���������=������������/����������8����7���8���B����
�8���7�������+���
������=������������������������8����
/������8��B6#8����#��
����=8�
8�=�������
������8���� 
���������=������������/��=���0�/���6�#��#�����=��8�7�� 
����+�-�������=��8��8��7�������7�����8��/##����������� 
�/���8��/�8�/���8����������������#�
���(8��������D/��

����
������=��������2��+��8�����������/��=����0/� 
�����6�������+��8����=����������������������=����#��
��
����#/������/������8��-/�/�/������/������8��B6#8���
#��
���������8�����������+��8��#��2��/��������=����� 
��2���7�����8����7���8���B���������=�����=������������
'���8����B����6+�
��������(��8�=�������������7�������D 
/���
����
����������8�����������/�+�=��8����6������� 
�����77/���������8����7���������8��0������*/���#���
�� 
�����5%���/������7��8��
8����=����#��7����������#/�
���#����=�����0�������7���0�
���������
�������6����=��8
����0����
��8���#6�
����
������
/������8����B���=����6�+

�8��#�������=����7�0����+��/#���
+��7��������������
�� 
��������������������0������6�7�������+�����=����8���7���
�����7����������8��=�������*��
8�!���H�����������2���
��5+��8�����8���8���B�=������������+�=��8��2�
/�������7
�����E����:��7��/�0���0��=���8��77/������(8���77/����
7����������#������6��8�=���*"%�������##��#�������8�� 
�#6�=���#���
��0����(8������6�������+��8���������=���
�/���7�7/�
����������/���B ��6��8�=����������7������+
����8���������=��������2��+�=��8����/��������������7��8�
��
�������8���B�=�/���������=�/���8�����������
���
����������=��8����/������������+�8�=�2��+����2�������� 
-�����7�
������8��������7��8����
������8����7���(8��� 
7���+�#�����
��/����6��7��8����7���/#��
��2�
/�����������=��
#��7����������������������8���������#������+�=��8����� 
���������#�
�������/�
���7��#�7�����8�����8������+�����8�
��7������=������������/������8����
�����#��������>H�� 
7������./�0��A��(8��#����������6���7����8������6����
��5+������8���=��������7����������8��=���+�=��8����/���
����������B
8����+�".���������
����6���
����
�������8�
=�/���8�����������
������������������������B���������
06��8��$�(��#�
�������=���������������8��#�������=��
���
8������7�����8��8��#�����7���8����
����

(8��#����������6�������8��
�#��������7���FE���6�+
�7��8�����F���6�������5��
������������������������7��8�
���8��������7���8���B�=����#��7�����������2����

������
�2��������6���(8��#�������#���������7������/����
������
2����������/���/�#�������
����
�7����8����B����B�����8�+
�8�����
����6����7����=��6����������7����������
�/����
�/���B ��6+��8���B��(+���0������6�������������
���7�������
=����=��8����8���������������+�=��8�����������
������

��7�
�+�����=��8��������#��2���������

/#��������D/��� 
�6��7���7��

�������
��

!� %3�$:
%�(G����7�
�������7��8�����������/���&��������8���
�

�/����6����8�$�������H8������#8����:�##��
����G��������O�G������+
�������JE !JE�

�� H$�"%$�3$��*�������������7����=����
��2�
����/##/�����������
%/���!JEF�!�F��FF�

E� *�"(; ��$��3+��:�5)$��*+��:"���H��������
��
������
��
��������������������������2��������7���������������������
=��8��8���
����6��9�(8���
�������2��
�%/���!JJ��!����� �!�

�� $�
'�%+�*5"�;�*��K+�3�%$&�G��(+�;�*�*'('�%���
����&/���������7����/���
��������������0����������77/������7
���
���������
������������������������9#��9�(8���
�������2��

%/���!JJJ����!� J�

�� *�3'%�H+�H'(�"�%�4+�&�4�
�%��+�H�H�
�4�%�
+�"�::�%
&��*�����������7����
���������
������������������������9�'���
*�B����7�
�%/�����������J�� ���



��������	��
������
��������������������� ���

���������	������� 
��
���������
����������������������

�� $%("$"���%+�:��
�;�*9+�&"�%3�*�9*��������
��
������
��
������������������������%/���&6��
���'0�����!JFE�!�������

�� �G�(��(+�%$4��$�;+�%3�.5;��4+�;�%5K54��4��������$���6
�#����8���
����6���������������#��/���������������7�����2���
���
���������
������������������������$/��9��������8���
�%/��
������F�EF� F�

%�P����


$%�$�
$�(����$4"'(�)�"�95Q��*$
�9�%(���(�%

����	�
�	���$��%��&�����������'	� (
�
�
)��*����
&
��+����%��%��&�������!
�
&�������,
���	�


��
��������������������-/	������-����������-����0��-������-�����7��
�-������-�����/�����-����-1�R	�������-���#/R���-��
��7��������#���/1-��/����R/#�-��������2������%��������-�������-��2����2������>#�������@A�/�#���������R�-������/	����������-�1��-�
������2���2�����������/�R����#/�����.�����������P��#�-�2���������2�8���0��8���/#���+�����������/R����
�������������P����
5���-�1��-/�0���������-2�P��-��-�������#����2�-��-����-������������0���������8���#�1�����������2�������0�����������#�-�+���/
��/1�-/��#/R���-�����-����#��
����/�#�������R����/�R��������2��
�-���H�����/-�����0�������������
���������������������-/	��
����-��������������-��-��/�#�1���/���-�1�������0����
���+����0���#��#���
�-��0������������/�R������82������(�-��������/�R���
��82�������2����������P�2����#��������#����
�-�+������-����-�2���������2��������#�-��

4�-/1�����-�1������	+�
�	�	�	
�����	
�
�	+������	+�
�	�	�	
����	+���

�	�������	+�
�	�	�	
��������	+������	+�
�	�	�	
����	����	+������	+�
�	�	�	

���
���	���	+�����	��#�
��'�+�

F� G3$�(:;�*9+�%(�":��&�*�+�4�"%3�**��������
��
������
��
�����������������������������
��2�
����������������������/�8�
����(8���
�%/���!JJ���J��F��

J� H�H�:���$+�"$���'+�':��"'��+���I�::'����������
�� 

���������
������������������������$/��9��������8���
�%/��
���!�����EJ ���


